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Résous les systemes suivants :

r—y=2~8
Tr + 5y = 104

Solution : (12;4)

3r+y=38
Tr+ 4y = 104

Solution : (—14.4,51.2)

dx + Ty = 209
2z 4+ by =121

Solution : (33;11)

5 + 3y = 136
2z 4+ 6y =112

Solution : (20;12)

2z + 3y =60
3z +2y="70

Solution : (18;8)

3z + by = 24,80
4o + Ty = 34

Solution : (3,6;2,8)

r—3y="17
2z 4+ by =25

Solution : (10;1)

dr — by =13
9 +y =17

Solution : (2;—1)

5t — 4y = —26
4o — by = —28

Solution : (—2;4)

—2x+3y=4
S5r —5y =25

Solution : (7;6)

5x + 4y = —26
dxr — 4y = —28

Solution : (—6;1)

—2x—-3y=14
S5r —dy =5

Solution : (—2;—1.2)

r4+2y=38
20 -3y =2

Solution : (4;2)

dr —3y =1
or +2y =17

Solution : (1;1)

dr — 3y =2
122 — 6y =3

1
Solution : | —=;—1
olution ( g )

dx + by =21
3r+y=38
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Solution : | —; —
olution (11,11>

3,50 +4,2y = 14
1,22 — 0,3y = —3,9

Solution : (—2;5)

5z —2y—T7=0
2 + dy = 22

Solution : (3;4)

Résous les systemes suivants :

r—y=2~8
Tx + by = 104

Solution : (12;4)

3r+y=38
Tr + 4y = 104

Solution : (—14.4,51.2)

4o + Ty = 209
2z 4+ by =121

Solution : (33;11)

5x 4+ 3y = 136
2¢ + 6y = 112

Solution : (20;12)

2z + 3y = 60
3x+2y="70

Solution : (18;8)

3z + by = 24,80
dor + 7y = 34

Solution : (3,6;2,8)

r—3y="7
2z 4+ by =25

Solution : (10;1)

4r — 5y =13
9 +y =17

Solution : (2; —1)

S5 — 4y = —26
4 — by = —28

Solution : (—2;4)

—2rx+3y=4
S5c —5y =25

Solution : (7;6)

5r + 4y = —26
dxr — 4y = —28

Solution : (—6;1)

—2x -3y =414
S5 —dy =25

Solution : (—2; —1.2)

r+2y=38
20 -3y =2

Solution : (4;2)

dr — 3y =1
Sr+2y="7

Solution : (1;1)

dor — 3y =2
122 — 6y =3

1
Solution : | —=;—1
olution ( g )

dx + by =21
3r+y=38
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Solution : —9; 31
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3,50 +4,2y = 14
1,22 — 0,3y = —3,9

Solution : (—2;5)

5 —2y—T7=0
2 + dy = 22

Solution : (3;4)



